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ZF52kgik
No. |[K% XE£ 1ALHEP [#BE [SQ1 [SQ2 [SQ3  [SQ#F [BP1  [BP2 |BP3  [BP%F [ST DL1 |DL2 [DL3 [DL%% [Total |WilksFormula [WilksPoint [JEfi
1Lt #HEE FEIWLK(3) [@) O | 4070 775 85 90 — 50 55 60] — 150 80 90 95| — 245 1.4788]  362.308 1
AEEEED @K (3) [@) O [ 4900 100] 110] 115 — 50 55| 575 — [ 1725 90[ 100 5 — [ 2725 1.3043[  355.421 2
RIEEEES BREEX (4) O | 5060 70 80 85| — 45 0 50 — 135 90| 100 0] — 235 1.273 299.155 3
& F60kgik
No. K% XE£ 1 HLHI5P & [SQ1 [SQ2 [SQ3 [SQ%f [BP1 |BP2 |BP3 |BP%% |ST DL1 [DL2 |DL3 [DLY¥ |Total |WilksFormula |WilksPoint [JB{iL
AFH = K (2) 53.40 40 50 5 — 30 35] 375 — 875 75 85| 925 — 180 1.2212]  219.816 5
5|%H E£&=F =N K4) O | 5290 100] 105 0 — 70 5l/3% — 175] 140 0 150 — 325 1.2302]  399.815 1
6Lz F&F @K (4) [@) O | 5320 105 115 5 — 675 725 775] — | 1925 115] 125] 130] — | 3225 1.2248]  394.998 2
1FE @K (3) [@) O [ 57.90 70 80 5 — 70 80 85| — 165 75[8%  [IRR | — 240 1.1463]  275.112 3
8|FEiE EHER R (2) 57.50 80 85 90] — 35] 375 — | 1275 80 85 9] — | 2175 1.1525] 250.66875 4
. F60kgtB iR
No. K% XE£ 1 hLHI5P & [SQ1 [SQ2 [SQ3 [SQ%f [BP1 |BP2 |BP3 [BP% |ST DL1 [DL2 |DL3 [DLY¥ |Total |WilksFormula |WilksPoint [JB{iL
[EEEEES @K (4) [@) O [ s60.10 5]  105] 115 — 60 65 70 — 185]  120] 130 135 — 320 1.1134]  356.288 2
10[7T 3 Z=H#EE @K (3) [@) O | 6480 110] 120] 130 — 825 90 95|  96] 225 100 0] 115 — 340 1.0515 357.51 1
1B Bhn =HKRQA) @) 62.10 95( 102.5| 107.5] — 67.5 g 725 — 180] 135 0] 1425 — | 3225 1.0858]  350.1705 3
1258 H<H FEWLK(3) [@) 7250]  125] 135] 140 — 75 85 0] — 225 0] 120] 1275/ — | 3525 0.9716]  342.489 4
BB F52keih
No. |[K£ XE4£ 1 hLHEP & [SQ1 [SQ2 [SQ3 [SQ#%f [BP1 [BP2 [BP3 [BP4 |ST DLi [DL2 |DL3 [DL#¥ [Total [WilksFormula 553
13[/MEH #HE fEWLK(3) [@) O | 5080/ 120/ 130] 140] — 105 5 0] — 245]  130] 140] 150 — 395 1.0079]  398.1205 1
BB F56kefh
No. |[K£ XE£ 1 hLHEP & [SQ1 [SQ2 [SQ3 [SQ#%f [BP1 [BP2 [BP3 [BP% |ST DLi [DL2 |DL3 |DL#¥ [Total [WilksFormula [[E53
14|RZiE fBA @K (4) O | 5450 120] 130 — 75 80 — 210] 145 0 0] — 355 0.9369 3325995 3
15| KA EEIE mEXQA) O | 5550 145 155 5 — 95| 105 0] — 260 175 190] 200 — 460 0.92 4232 1
16[5k @ 15 BREEX (2) O | 5440 110] 120 5 — 110] 120 0] — 240] 130[ 140] 1475] — [ 3875 0.9386] 363.7075 2
17k% #BFE mEXQA) @) 55.60] 115|120 5 — 70 75 0 — 195 130 135] 145 — 340 0.9184 312.256 4
18[5FE FE ELX(2) O | 5490 100 1125 5 — 65 70 75] — | 1875] 135 0 0] — | 3225 093]  299.925 5
B8 F60keih
No. |[K% XZE£ 1 hLHEP & [SQ1 [SQ2 [SQ3 [SQ#%f [BP1 [BP2 [BP3 [BP% |ST DL1 [DL2 [DL3 |DL#¥ [Total [WilksFormula [
19|68 K2 FELK (4) [@) 59.50] 150 0 0] — 90 100 5 — 250] 155] 170 5 — 420 0.8608]  361.536 5
20|&H1L FH @K (4) [@) O | 5990 140 155 5 — 100] 110 5 — 265 155] 180 5 — 445 0.8555|  380.6975 3
21[{ER K 25 mErEA(2) O | 5940 140 0 0] — 65 70 75] — 215 150[ 160 0] — 375 0.8621| 323.2875 6
2[=%= &7 @K (3) [@) 59.60 5 5 145 — 90 0] 100] — 245]  165] 175 180 — 425 0.8594]  365.245 4
WB|EFE FRh @K (3) [@) 58.90| 122.5] 142.5] 1525] — 0| 102.5] 1125 — 265] 170 1825 5| — [ 4475 0.8689] 388.83275 2
24| B3 BERER X (2) [@) O | 5950 155 0 5 — 100]  105]  110] — 265 165] 180 1925] — | 4575 0.8608]  393.816 1
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% F67.5kghk

No. |[K% XE£ 1 hLHEP & [SQ1 [SQ2 [SQ3 [SQ#%f [BP1 [BP2 [BP3 [BP4 [ST DLi [DL2 |DL3 [DL#¥ [Total [WilksFormula [
25| KXF IERA =NK(4) [@) 67.30 0 0 0| — — — — | =1 = — — — | =] = 0.7738 £
R PNEES BREA (4) O | 6680 170] 180] 190] — 115] 125 125] — 315 170[ 180[ 190 495 0.7785| 385.3575 3
27|%4H & REA(3) — — — | =1 = — — | =1 = — — — | =1 = #N/A —
28|t E# mEX(2) O | 6540 155 170] 180] — 0 0] 100] — 280] 170[ 185 0 465 0.7922]  368.373 5
29|[hk BEF] EEEKX(4) O | 67.15] 190 200 51 — | 1625 0 0] — | 3625 2025 2125] 225 587.5 0.7747] 455.13625 1
30(BI%y —#t BREEXR (4) 65.45| 145 1525| 155 — 5 5 105 — 260 160 5| 165 425 0.7911] 336.2175 7
31|THE T— REA(2) O | 6566 135 150 165 — 100]  110] 120 — 285 175 5 5 460 0.7891 362.986 6
3215 BaE EEKX(2) O | 6705 165 5] 175] — 105] 117.5 5 — | 2925 170] 1875 5 480 0.7756]  372.288 4
33|k =tE @K (4) [@) O | 6745 165 175 185 — 115 0] 120] — 305  190] 200 505 0.7719]  389.8095 2

B8 F75keih

No. |[K% XE£ 1ohLHEP [#BE [SQ1 [SQ2 [SQ3 [SQ#F [BP1  [BP2 |BP3  [BP%F |ST DL1 [DL2 |DL3 [DL#¥ [Total [WilksFormula [
34|51 F0e @K (4) [@) O | 7445 215] 230 0] — 120] 140  145] — 375 5 215 225 — 600 0.7166 429.96 1
35| K# BHEE REEX (4) O [ 71.60 150 5| 155 — 100] 105]  110] — 265 200[ 215] 230 — 495 0.7367]  364.6665 3
6| AE SIi BREEXR (2) — — — — — — e — — — — | =] = #N/A —
37\MUEE #E&E mErEA(2) O [ 7070 130] 137.5] 1425] — 825 90 95] — [ 2375] 150[ 160 5] — [ 3975 0.7437] 295.62075 4
38|tk FHF BREEX (2) O | 7440 200] 220[ 225 — 5 5 5 — | — — — — | =1 = 0.7166 K
39|& M FHH @K (3) [@) O | 7295 205 2175 230 — 145 5 5 — 375 14508 [/8x | — 520 0.7271 378.092 2

5B F782.5kg#k

No. |[K% AE£ 1 hLHEP & [SQ1 [SQ2 [SQ3 [SQ#%f [BP1 [BP2 [BP3 [BP% |ST DL1 [DL2 |DL3 [DL#¥ [Total [WilksFormula 553
40/;thE B RmEXA) O [ 77.90 0] 100 115 — 80 95 0] — 220 110[  120[ 130 — 350 0.6945]  243.075 3
H== % @K (3) [@) O [ 7670 225 240 255 — 215] 235]  251] — 505 200[ 220[ 230 — 735 0.7017] 515.7495 1
42| th X (2) O @) 79.05 0| 180 190] — 90[ 115/ 120 — 310 170 5 5 — 480 0.6882 330.336 2

B8 F90keih

No. |[K% XZE£ 1 ALHEP [#BE [SQ1 [SQ2 [SQ3  [SQ#F [BP1  [BP2 |BP3  [BP%F [ST DL1 [DL2 [DL3 [DL#¥ [Total [WilksFormula [[E53
43|[H @K (3) O [ 8390 165 0] 180 — 90 95 0] — 275  165] 180[ 185 — 460 0.6633]  305.118 3
4aEH BAR Bl (4) [@) O | 8550 245 2625 0] — 190]  205] 2125 — 475]  280[ 300[ 3125 — | 7875 0.6562] 516.7575 1
BIAR EF G- NED) O | 8480 235 0 0] — 150 160/ 165 — 400] 220] 230 0| — 630 0.6592 415.296 2

5B F100kg#k

No. |[K£ XZE£ 1ohLHEP [#BE [SQ1 [SQ2 [SQ3  [SQ#F [BP1  [BP2 |BP3  [BP%F |ST DL1 [DL2 [DL3 [DL#¥ [Total [WilksFormula [[E53
46| 515 BREH Bl (4) [@) O | 9420 235] 245 5 — 150]  160] 170] — 415] 235 250[ 270[ — 685 0.6244]  427.714 1
47| Nk =T RmEX(2) O [ 91.60 150  165] 175 — 95| 110 5 — 285  160[ 175 185 — 470 0.6328]  297.416 3
48|12H FnE FEIWLK(3) [@) O | 9860 200/ 220/ 230] — 125] 132.5] 1375] — [ 3675/ 190] 205] 2175 — 585 0.6121] 358.0785 2

5B F100kgiB &k

No. |[K£ XE£ 1 hLHEP & [SQ1 [SQ2 [SQ3 [SQ#%f [BP1 [BP2 [BP3 [BP% |ST DL1 [DL2 |DL3 |DL#¥ [Total [WilksFormula [
49|FN7E IERE REEX (4) O [12520] 260 0] 280 — 190 200 0| — 480] 240[ 260 — 740 0.5697] 421578 1
50[E A E5A LXK (2) O | 100.20 5 5 5 — — — e — — — | =1 = 0.6081 £
51|ZHE —5h NG O [ 12260 220] 240 0] — 140] 150 0] — 390 200] 210] 220 — 610 05722]  349.042 2
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